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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 3453 4.5 2 8 56.8 99.7
2 3374 1.2 1.4 4 30.8 97.4
3 3400 1.7 1.6 4 41.4 98.2
4 3404 5.9 2.4 10 58.8 98.3
5 3383 0.9 1 4 22.1 97.7
6 3379 3.1 2.5 9 33.9 97.6
7 3345 1.9 1.7 5 38.5 96.6
8 3113 1.2 1.3 3 40.1 89.9
9 3326 4.5 1.8 6 74.5 96

10 3414 5.4 1.9 7 77.3 98.6
11 3340 2.3 1.2 5 46.7 96.5
12 3027 2.3 1.7 6 37.7 87.4
13 3158 1.4 1.7 5 27.1 91.2
14 3213 1.3 0.8 2 64.1 92.8
15 3255 4.1 3 12 34.2 94
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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GCSE COMPUTER SCIENCE 
 


SUMMER 2017 MARK SCHEME 
 


Qu. Answer Mark MAX 


1.(a) ACCEPT: Cross/Tick answer 
Random Access Memory (RAM) is volatile 
Typical data is any program currently being executed/processed (or data being 
used by any program currently being executed)   


 
NOT soon to be used by the CPU 
 
Read Only Memory (ROM) is non-volatile 
Typical data is any program that must remain in memory after power is switched 
off such as BIOS settings or embedded code, for example, on a microwave 
oven 
Bootup procedure/bootstrap loader 
 
Flash memory is non-volatile 
Typical data is any program or data that has to be stored persistently/ 
permanently, must give an example, BIOS, music, photos, videos, etc…. 
NOT small data files 
 
Cache or CPU memory is volatile 
Typical data is the frequently/often accessed/used data 
/instructions from RAM used by the CPU 
Instructions for the CPU 
NOT anything related to websites 


1 
1 
 
 
1 
1 
 
 
 
1 
1 
 
 
1 
1 
 
 
 


8 
 


2 One mark for each of: 
Creating a formal letter - Word processor 
Calculating the monthly expenditure for  a small business - Spreadsheet/ 
Creating a company logo –/graphics/image manipulation 
Explaining the rules of a game to a large audience – Presentation / Web authoring 
NOT brand names 
 
 


 
1 
1 
1 
1 


4 


3 Device to store the operating system – solid state drive/SSD  
 
Operating system boots up the computer so computer will boot faster if the O/S 
is on a solid state device 
 
Device to store backups of pictures and videos – magnetic hard disc/HDD  
Because it will be slower to access and Jane doesn’t access the backup of 
pictures and videos unless recovery is required, so access speed is not 
important 
OR 
Backup of pictures and videos are likely to be large files and there might not be 
enough room on the solid state drive. 
OR 
Cost ratio to storage capacity is cheaper 
Condone reversed devices only if reason is well justified 


1 
1 
 
 
 
 
 
1 
1 
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candidate has not given the correct answers. Candidate would have scored 3 marks without 
the "Output=" phrase. 


Q2 


3 marks. Candidate was not awarded marks for the word drawing but would have been 


awarded an additional mark if they had used graphics or image manipulation software. 


Script C 


2 marks. Candidate was not awarded marks for the word drawing but would have been 
awarded an additional mark if they had used graphics or image manipulation software. 
PowerPoint is not a type of software but a brand name, a mark would have been awarded 
for presentation software. 


Script E 


1 mark. Word is a brand name not a type of software package. Image draw was not
considered to be a correct answer. 
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2. For the tasks listed below, write down the most suitable type of application software package.
[4]


Task Application software package


Creating a formal letter . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


Calculating the monthly 
expenditure for a small business . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


Creating a company logo . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


Explaining the rules of a game to  
a large audience . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .







































 


© WJEC CBAC Ltd. 3 


5.(a) The principle of the Act that would be broken if the company: 
 
Allowed the data being seen by people not working for the company is 
Data must be held securely (not private) 
Data should be kept for the registered purpose 
 
giving one reason for collecting data, but using it for something else is 
Data is fairly and lawfully processed  
Data is processed for limited purposes 
Data is collected for a specified purpose 


 
 
1 
 
 
1 
 
 


2 


5.(b) Two reasons the company would insist that employees agree to follow these rules 
are: 
Employees are clear about what they can and cannot do on the computer system 


Company can punish employees who do not follow the rules/accountable for their 
own actions 
Company can ensure that high standards are maintained 
Company can be sued if rules are broken 
Company can get bad reputation if employee accesses inappropriate 
websites/materials 
 
Any reasonable response that implies damage to the Company’s reputation 


 
1 
1 


2 


6(a)(i) A fragmented file is a file that is broken into parts and stored in different parts of 
the disc (far apart from each other). 
 
A file that is not fragmented is on contiguous parts of the disc (close/next to each 
other/all together). 


1 
 
 
1 


2 


6(a)(ii) When a disc defragmentation utility program is used to defragment a hard disc 
drive the different parts of the file  
Moved to a temporary area/reorganised and then rewritten where they are closer 
together/in one place on the disc. 


1 
 
1 


2 


6(a)(iii) Slower to load 
Longer to read the fragmented file. 


1 1 


6.(b) Two typical functions of a virus checker are: 
 Checking all outgoing and incoming emails and attachments 
 Checking all files downloaded 
 Scan hard drive/disk/computer system  
 Regular/scheduled virus scan of disk 
 Warns user of any suspicious files  
 Produces a report of known issues 
 Provide option to delete  
 Can quarantine viruses  
 Maintain an up to date (database) of all know viruses 
 Heuristic scanning methods that identify unclassified viruses based on virus-


like behaviour 


2x1 
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4341 OER Questions 


Q5. 


a) Answer awarded one mark as the wrong principle was quoted in the first section.


b) Answer awarded one mark. A code of conduct would not prevent an employee from
altering data. 


Script B 


a) Both parts answered correctly using the appropriate parts of the DP Legislation. 


b) Both parts answered correctly giving good reasons as to why companies ask employees 
to follow a code of conduct. 


Script C 


a) The candidate was confused between data protection and copyright in the first part but 
got the second one correct. 


b) No marks awarded. In the first reason a code of conduct does not enforce company 
security; in the second reason a code of conduct does not mean consistency in the way 
employees behave. 


Q13 


Script A 


Answer accepted despite the use of quotation marks around the output. Candidate has 
shown the output correctly in all cases. 


Script C 


No marks awarded. In the first part the candidate has used the word "output" in the answer 
(not something that the algorithm would produce) and in the second part has not given the 
actual numbers that would be output. Candidate would have scored 1 mark if the word had 
been missing. 


Script E 


No marks awarded. The candidate has used the word "output" in the answer (not
something that the algorithm would produce) in both sections. In the second section the 
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5. A company stores data about its customers. Company employees have access to this data.


	 (a)	 The Data Protection Act applies to the data, state which principle of the Act would be 
broken by the company in the following situations: 	 [2]


The data being seen by people not working for the company


Giving one reason for collecting data, but using it for something else


	 (b)	 When an employee logs on to the network they are asked to read and accept the 
company’s Code of Conduct which lists the rules employees have to follow.


		 Give two reasons the company would insist that employees agree to follow these rules. 
[2]


Reason 1


Reason 2
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12. Marking
One mark for naming a resource 
One mark for any role when managing the named resource 


Resource – any input device such as mouse, keyboard, joystick, scanner … 
Manages input devices - roles include, any one of: 
 Receives data from input devices 
 Stores in correct memory location


Resource – any output device such as monitor, speakers, … 
Manages output devices - roles include, any one of: 
 Formats data ready for output device
 Sends data to output devices


Resource – printer/printing 
Manages printer - roles include, any one of: 
 Checks if printer is ready/has paper/ online (handshaking)Formats data ready 


for printing 
 Send data to printer
 Data can be stored on hard disc in a queue/spooling
 Document can be printed when printer is free / in correct order


Resource - processor 
Manages processor - roles include, any one of: (some accepted but not expected)
 Ensures different processes can utilise the CPU 
 Ensures processes do not interfere with each other or crash 
 Allows user to run programs 
 On a multi-tasking O/S ensure that all tasks appear to run simultaneously
 Allocates time slices 
 Scheduling of programs 
 Handles interrupts 
 Allocate cores to tasks 


Resource - memory (RAM)
Manages memory (RAM - roles include, any one of: 
 Allocates memory to programs currently executing 
 Ensures programs / data do not corrupt each other


 Ensures all programs and data including itself is stored in correct memory 
locations 


1 
3x1
3x1


6 


13. Input =0 then output is Number not valid 
Condone use of quotes 


Input = 4 Then output is 1 3 6 10 


1 


4 


5 


14.(a) Count is integer 1 1 


14.(b) Mean is Real/Float 1 1 
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actual numbers that would be output. Candidate would have scored 1 mark if the word had 
been missing. 


Script E 


No marks awarded. The candidate has used the word "output" in the answer (not
something that the algorithm would produce) in both sections. In the second section the 
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something that the algorithm would produce) in both sections. In the second section the
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without the "Output=" phrase.  












(4341-01) Turn over.
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13. Below is an algorithm.


© WJEC CBAC Ltd.


Algorithm FindTotal


HighNum is integer	 {input by user}
Total is integer
i is integer


	 startmainprog


input HighNum


set Total = 0


if HighNum < 1 then
output “Number not valid”


else
for i = 1 to HighNum


set Total = Total + i
output Total


endfor
endif


	 endmainprog


Write down all the outputs in the correct order produced by the algorithm for the input below:   [5]


Input is 0


Input is 4
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